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Ansiver all the questions on this guestion paper itself,

w0 Write yolrr Index Number in the space provided in the answer sheet.

# Select the correct answers for questions No. 1-8% and write ifs number on the dotted line

ich of
(&) [he price of rubber dechined hy 109 last "\_'t‘-.ii.".

2) lf.w,mpfny'luc, was 5.8% of the labour force last year

(33 The ree! Gross Domestic Product increased by 7% last YEAT,
{4) The general price level increased by 4% last year,

e

{3 lnc tax revenue ol the government decreased by 8% lost wvear.

- Jollowing is a microcconomic stalement?

2. The three key groups of decision makers in an cconomic gysiem are

13 honseholds, business firms and banks. y

(2; housenolds, business [lirms and govermment,

(3) business firms. government and non-governmental orgas ’“'lmm |
(4} business firms, banks and foreign traders, :
(31 houscholds, goverament and banks. '
3. The opportunity cost of a particular activity

(1} is the same for everyone pursuing the aclivily.

(2) includes both monetary-costs and foregone income.

(3} includes monetary cost only.

(4) includes Foregone income only.

(5) measures the direct benelits of that activity.

4. Along a country’s production possibilities frontier,
17 the level of technelogy is changing. |
(2) more of one good can be produced without giving up producing some of the other gond.
3) resources ard not being fully unlized, ‘
ng tulty utilized.

avallable resources ave be
(5 there is productive inefficiency in the economyv,

4

e

rr§

es, vhich of the followinz waul

5. If resources were perfectly substitutable in ail economic acti
(1) Cutput of all geods could be increased. !
(2) The prodection possililities curve would be a straight line.
{33y Specialization and mutually beneficial trade would be imipossib
(4} No country or individual would have & comparative lagEe moany activity,
(5 Scarcity of resources would be eliminated.
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' 6.

I'he e:{:x‘_)]h‘_;}h}-‘ based on capitalism includes all of the following characteristics except

(i} a price system based on demand and supply.

{2) a system of private property.

{3) self inferest among households and enlreprensurs

{4y freedom of enlerprisce

(53 centralizud plunning, s 3

I'he degree of government nvolvement in the economy is greater in

(1) a markel economy. (2} a command cconomy. {3} a mixed economy.
() a soctal market cconomy.  {5) a traditional economy. : (e )

i the dcmélr;cl for milk powder increases whenever a person’s income increases, then milk powder is an

ceample of

{1y an inferior good. (2) a_free good. (3) a Giffen good.
{4) a public good. {3) & normal good. (_._,____)

At a given time, when demand increases and supply decrcases in a competitive market for a ‘normal good’,
(1) equilibrium price will fall and cquilibrium quantity will rise. '

My opguilibrivm price and quantity will both rise

3y equilibriam quantity wil! rise; equilibrium price will either rise or fall.

i cauilibrium price will fall; equilibrium quantity will either rise or fall.

{ ._--;juil':lt.vriun'] arice will cise; equttibrium quantity will either rise, fall or remain unchanged. (R )

sugar and jaggery are considered as substitutes for each other in many consumption activities, Therefore, if
the price of sugar rises, we would expect
o1y the demand lor jaggery (0 Increase.

-12) the demand for jaggery to decrcase.

{3) the yuantity demanded for jaggery (o decrease.
() the price of juggery to decrease.
the guantity demanded for jaggery (o increase. _ Covaain b

Suppose that the price elasticity of demand for coconut is —~1.0. When the price is Rs. 60 per coconut,
quantity demand is 500 coconuts, What will be the price of coconut when the quantity demand is 600
coconus? _

£y Rs, 30 (2) Ra. 40 (3) Rs.50 (4 Rs.55  ° (5) Rs.60 o )

Which of the following will cause the demand curve for u good to shift to the left?

(i) An increase in the price of the good

2 A Li_c{:;'c-:élsaf in the price of the good

{3y A decrease in the price of a complementary good _

An increase in the price of a substitute good ;

ey
(31 An expectation of a tuture price decline 5 : (o )

With a downward sloping market demand curve and an upward sloping market supply “curve for a product, |

i@ decrease i input price will:

Ly increase equilibrivm price and quantity.

3 decrease equilibrium price and quantity.

{3) shifl the supply curve to the left,

w4 decerease] equilibrium price and increase equilibriumt quantity.

{5) increase equilibrium price and decrease equilibrium quaniity. : s )

A small country’s domestic market demand curve and supply curve for sugar are respectively represented
by the following L.qua{mn . . e
Qg = 320 ~ 3P (Demand) ;
| Q, = =80+ 2P (Supply)
Assume that' the sugar market is open (o international trade and the world wmarket price of sugar is Rs. 60 pc*r
unit. What is the quantity of sugar that are domestically supplied when the cmmtry is open lo mlurnanonal

trade?
(1) 40 Lmiis;: (2) 60 units - {3y 80 unils {4y 100 units (3) 140 units iy 3

Suppose the demand for petrol is very inelastic and the supply is very elastic. An excise tax on petrol will
o : 3 3 I
be borne e

f1) more heavily by buyers, (2) more heavily by sellers. -
{3) equally by buyers and scilers. (1) entirely by taxpayers.
{5) by ueither buyers nor sellers. : (et 3




16. The graph shows the demand and supply curves in a competitive
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The government wants to promote the production of this commodity and decides o pay producers a subsidy
of Rs. 2 per unit that they produce. The consumers’ surplus after the subsidy 1s, : -
(1) Rs.20. - (2) Rs. 80, (1) Rs. 90, {4) Rs. 160. (3) Rs. 180. A )
17. A price ceiling set below the market equilibrium price will result in
(1) an excess supply. (2) an excess demnand. (3) an equilibrium price.
(4} an increase in supply. (5) a decrease in demand. {osiiin]
1%, In the production process, a short run is a period of time in-which _
{1} the tirm is not able to-hire more workers. (2} the armount of output produced is fixed.
(3) there is a shortage of most inputs. (4) all inputs are fixed but outpul can be varied.
{(3) the guantities of some inputs are fixed and others can he varied. i i)
10 The vertical distance between the total cost (I'C) and total variable cost (I'V() curves 18
(1) decreasing as output decreases. (2) increasing as output decreases, i
(3) equal to marginai cost (MO). (4) equal to total fixed cost (TFC).
(5) cqual 15 averape fixed cos:._(AFC}. i 3
20. Given the cost and demand schedules ofa competitive firm depicted in the diagram piven below, if’ the
firm increased output from Q 0 Q,, it would
ot PR 1 - Price and Cost (Re.}
(’l.) carn a normal ‘proht. . : 2 A Marginal Cost
(2) experience an increase i profit. :
(3) experience a decline is profits. ! i
() increase revenues but not costs. ; P !
(5) increase costs but no revenues. . ! for Dapes
E E {'\ %
y 3 7 L =t
¢ Q, Q, Quantity (Units) '
91, Which of the following s mot a characteristic of moenopalistically competitive rnarket? -
(1) Relatively easy market cntry (2) Differentiated products S
(3} Substantial product advertising (4) A large number of both buyers and " sellers
(5) Firms face perfectly atastic demand curves § i {..
22. In the circular flow of income diagram of an economy, which one of the following flows direct]
povernment? i .
(1) Taxes (T) (2) Exporls (X) (3) Savings (S)
(4) Transfer payments (1) {(5) Investment expenditure {1 [ )
23 In the contractionary phase of the business cycle.
(1) investment is rising and the output is [alling.
(2) unemployment is rising and the output is falling.
(3) unemployment is falling and the price level is rising.
(4) unemployment is [alling and the output is rising.

market for an agricultural commodity.

(5) unemployment is rising and the output is fising.
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At present, the largest component of gross domestic capital formation in Sri Lanka is

(1) machinery and equipment. (2) financial asscts.
(3) land improvement and plantation development. (4) chemgcs in stocks.
(5) L‘(}l‘tiStl‘UC[i(}ﬂ_ ' (amaiy
|
S o ealeulate GDP from the expenditure side, one must add together
(1) wages, profits, government purchases and net exports. {
(2) wages, rent, interest and profits.
(3) consumption, investment, government purchases and exports.
i) conswmption, investment, goverament purchases and nct CxXports.
(5) cm‘.)swl.imptimi, government purchases, taxcs and interest. {aaimis )
At present, Sri Lanka’s GDP at current markel price is approximately
() US.S 30 billion. (2} US § 75 hillion. (3) US $ 100 billion.
{(4) USi$ 125 billion. (5) US $ 150 billion. - _ _ Grinn)

Consider the following macroeconomic data for an cconomy which is operating at an equilibrium national

income level.

Ttem | Rs. million Item Rs. million |
(.’fon.m.tm.]')tion «:xpumi’ilurc 5000 Imports 1200
Tax revenue 1 000 Exports : 980
Government purchases 1500 GDP at market price 8 000

The fevel of investment in this economy is |
10 million. (2} Rs. 320 million. (3) Rs, 1220 million. et
S 1720 million. (5} Rs. | 940 million. o )

Consumption
Expenditure (Rs.)

B (::O!’!SL}]TIPHOH
Function
9000 p-mmness g

i Disposable
U 10000 20000  Income (Rs.)

ps

The diagram above displays a lincar consumption function. If the autonomous consumplion is Rs. 4000,
what isthe amount of consumption expenditure docs point B correspond to?

{1y Rs. 18 000 (2) Rs. 17000 (3) Rs. 16000 {4y Rs. 14000 (5).-Rs. 10000 bt )
Feonomists assume that as real GDP increases

{1y exports will increase. (2) imports will decrease. £3) net exports will be constant.

(4) net exports will increase. (5) nel exports will decreasc. (i )

Which of the following groups would actually, benefit from an occurrence of unexpectedly high inflationary
price increase? :

(1} Relired workers

{2y Lenders

{3 Wa;je earners

{(4) Flderly people who have saved money during their working years
(3) Borrowers i }

When an economy is at full employment, which of the following will most likely to generate demand-pull
'mI']a[i(m;‘? 4 :

(1) A decrease in the budget deficit (2) A decreuase in net exports

(3) A decrease in trade union power (4) A decrease in the real rate of interesl

(53 A decrease in the money supply : : : (e )
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38.

39.

40,

Over a period of one year a country’s inflation rate was 12%. Over the same period the growth of i minal
Gross National Product was 14%. Which of the fallowing correctly describes what happened during ine onc

year period? _ : |
(1) The money supply decreases by 2% 2y The money supply increased by 2%
(3) Real GNP increased (4y Real GNP fell |
(5) Velocity of circulation of money increased {gmr)
The concept of ‘near money’ refers (o
(1) financial assels whose capital values are too unstable for them to be classified as money.
(2) liquid assets that fulfil the medium of exchange function but not the store of value function.
{3) liquid assets that fulfil the store of value function but not the medium of exchange function.
(4} cheques on demand deposits.
()

(5) credit cards.
The largest component of M, monetary aggregate in Sri Lanka at present is
(1) currency held by the public.

(2) demand deposits held by the public.

(3) quasi money held by the public with Licensed Finance Companies.

(4) quasi money held by the public with cornmercial banks.

(5) quasi money held by the public with Licensed Specielized Banks.
Suppose that in a commercial banking system, .all banks maintain 20% of deposits as a cash reserve. One
hank receives a new cash deposit of Rs. 200 million. If there is no subsequent change in cuivercy in

circulation, what wiil be the maximum amount of loans that the banking system -can grant as a result of

the new deposit? \:
(1} Rs. 160 million. (2) Rs. 200 million. (3) Rs. 800 million.
(4) Rs. 1000 million. (5) Rs. 1200 million. ! f 3

Which one of the foflowing would be expected Lo occur ds the result of an open market saie of gOVEIMIMCH
securities by the Central Bank? ) : -

(1) Increase in real GDP. (2
(3 Inceease in number of loans made hy banks. (1) Incroase in privaie investmen spendl

Increase in interest rates charged on loans.

(5} Increase in lhe money supply. 1 )
Which of the following does net indicate market {ailure?
(1) Existence of monopolies. ; [
(2) Excessive air and waler poliution. i i
(3) A lack of such necessities s national defence.
(4) The adequate suppy of public goods. :
£

(5) An unequal distribution of income.

If an industry ignores the external cosls it generates in its production, which of the following will be true af

the competitive market equilibrium output?

(1) Price will be greater than the marginal social cost,

(2} Price will be less than the marginal sccial cost.

(3y Price will be equal to the marginal social cost.

(4) Marginal private cost will be equal to the marginal social cosl.

(5) Marginal private cost will be preater than the marginal social cost. i i 4
A pure public good is a good that is. _
(1) provided efficiently by markets. . (2) rivairous and excludabie in consumption,
(3) nonrivalrous and excludable in consumption. (4) rivalrous and nonexciudable in consumption.
{(3) nonrivalrous and nonexcludable in consumption. s _ _ b
Fiscal policy involves the government determining :
{1 markel interest rates. (2) the money supply growth rate.
{3) taxation and government spending levels. C{4) the money supply.
(5) the rate of inflation. S )
At present, -the single largesl tax revenue SOUrCe of the govermment of Sri Larka is
(1) Value added tax. - {2) Corporale income fax’ (3} Excise wx.
(4) Import duty. 5 i’ay-f\s—‘{ou-ﬁar;é'{PAYE} iax., ¥ )
The major determinants of comparative agvantage among countries include all of the following except:
(1) per capita income. (2) climate. (3} labour force skills.

(s

(4) capital per workern (5) geographical focation.
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B.

wil i counry A and coun

Country A | Country B !
i : o i !
20 L ! |
| Bicycles | 60 i 10 |
Assume that c;ﬂch country specializes in the production in which it has a comparative advantage. For mutually
beneficial trade to occur, the rate of exchange between tractors and bicycles should be
{1) less than 3 bicycles per tractor. (2} between 3 and 5 bieycles per tractor. !
(31 Between 2 and 60 bicycles per tractor. {4} between 6 and 10 bicycles per tractor. |
(5) more than 10 bicycles per tractor. Voo % 7o
g4, is the only combination of price changes that must result in a deterioration in a country’s terms of
| | Average price of exports Average price of imports
T Fails rises '
! falls fails
Iscs falls
rises rises
remains enchanged ' falls : e )
4. Unier a flexible exchange rate system, which of the following should increase the rupce price of the Us
. of inflation greater in the United States than in St Lanka
(2) National income increases grealer in the United States than in Sri Lanka
(3) The increased preference of US citizens for Sri Lankan garments
A aubstantial reduction of fmports coming to Sii Lanka from the United States !
(51 Keal fatergst rate increases greater in the United Stales than in Sri Lanka i } ‘
40. Heonomic growlh s usually measured by the annual percentage change in ‘
(11 nominal GDE (2) real GDP _ |
peminal GOU per capita. (4) per capita disposable national income. ?
wnings power parity GIDP per capita. y (ennn. )
477 wetical economy. if the aumber of poople classified as unemployed is 50000 and the number of
wie classified as employed is 450000, then the rate of unemployment in that cconomy i
iy IL % (2y 10.0% _ (3) 22% 4y 8.0% (5y 74% oo
48 Pubic goods jre not srovided by the market system because,
S o | . . o v a =
A even i a'cost s incurred in consumiption, a profit cannot be earned.
) price cannot be charged and non-rivalry in consumption. v
3 ihose whe do not a price cannot be excluded and non-rivalry in consumption.
(4 e if a.profit can be earncd, a cost is incurred in consumption. '
L 110 be charged. it cannot be easily implemented. ( s )
A r than the private benefits in
cation and health services.
mfrastructure and eavironmental conservation activities.
purts and airport services.
roads and hospital services.
: : ! ~
nasional park environmental conservation activities. : ( v ]
supply-side policy measures that promote production are, .
(4 idies, deregulation, tax reforms and nationalization,
{2y tax reforms, nationalization, deregulation, removal of rigidities in labour and capital markets.
Crax reforms, expansion of administrative and development aclivities and labour-and
elorms.
subsidies, expansion of administrative and development activitics, deregulation and
(5 dvatization, deregulation and labour and capital market reforms. ( _ )
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5 & (i) What are the fhree approaches in measuring mamic activity of a country? Why ;

do these three appreaches pive the same value

¢ economic aclivity? (e errtes

(i1} What are the main sources of national savings

(i) In what ways are national income statist fcs usetul?
I vpothetical economy: (All figures

{iv) Suppose vou are piven the following informat
arc in; RR m[[lim'\ -
ln:m | Walue

: II(‘m

Government purchases Interest pa \r]'[""‘l[\ fJ om the gO‘.*-J-:":'lﬂ":#:’:I]I 15 o
: lo house eholds

Factor income !'g:\.bl'\'{.‘il from abroad |

Gross Domestic Product at marksl |

prices

“urrent accounl  balance of the |

Balance of I"l"'m s ' : !
,11-(-_1,\(-:.‘55 § s N | Net for ® [l (1U [C"-[ [321]1(1“(_‘[ ¢ l{] »

Caleulate the following, using the ¢

(a) Net exports
& . (b Privale ‘cmst.map:.if.m expenditure

5 Disposabie Gross National Jncome

Government savings

Sub. section” ‘B’ !
oot minimum of hva guesi
6. (i) Define ‘moncy’ and briefly describe how money his [emeves the defects of the barter system. (04 marksy
(i) Explain why credit cards are not money. [ Lt
| (ii} List the ?1?11’1(';1‘0:‘-;10_1’:'\)m'EL‘. variables that dete tool n
!, v cxplain how these variables the (0a arark

(iv) How would you disting ish between demand-pu:l inflation asd <o -puslh D fladis il
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I () Wiw hup ie very high level of excess ¢ Lquidizy in the domestic maney marsel im o or e

I v Lhe Bank of S Lanka o i

p]c‘m‘{« What measyces have been taxen hy
ercess liguidity of the Fanking - system?
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7. ) Defi ne and ;_-\" an example for each ol the |

Global p ublic goods

Cormorn 1e

l" l'..-.;.i “

Quasi public

(i) Distiriguish between statutory tax incide e and economic tax ineldence.
| (i) Whatijis meant by ‘neutrality of 1;a:<atio'.1".?"
' {iv) Distinguish between 1
» ; (v} ldentify the major non-tax revenie sources :
j
i i
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(1) what is the task of the government in an economy? (4 marks)

(i1) what are the steps that can be taken by a government to generate equity in the cconomy (4 marks)

(iif) what is meant by ' market failure'? in what instances does mar I\L,l mmm take place? (4 marks)

(iv) explain the difference between ' private cost' and 'social cost’ 4 marks)

(v) explain with the use of a suitable diagram, the difference between the socially d esirable

output and the market output when there are ¢ negative externalities in production | (4 ma

i) explain the difference between theory of absolute advantage’ and the 'theory of comparative

advantage'? {4 marks)
(i) what factors would affect to exist the comparative advantages? (1 marks)
(iii) what are the benefits that can be gained by a country by engaging in international

trade activitics? ' {4 marks)

(iv) the following table shows some data of international trade activities

output per labour hour

M\wntry ' Israel | Russia

commodity\ '
| acro planes 0.2 04 1
| missiles 0.8 0.6 i
s I |- '

a) what are the countries that receive absolute advantage for the two products?

(2 marks]

b) find the opportunity cost of each country for each product separately (2 marks)

¢) find the countries which receive comparative advantage for the two products (2 marks)

d) what product should Israel and Russia specialize?

(1) what is meant by economic grewth?

(i) how does the government intervene for economic growth?

{4 marks}

(1ii) what is the sectoral contribution of Grass Domestic | Product of Sri Lanka? {5 mar

(iv) what are the main economic activities included in the service sector when assessing

the Gross Domestic Product of Sri Lanka? {7 marks)




